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L. (@ Ifu=x+3y%—23,v=14x2 yz and w = 222 — xy ﬁndz—((l;%‘;i))— at (1,-1,0).
(b) Evaluate: j] ! j ”(x + y + z)dxdyd:. o4 )
2. Obtain the Maclaurin’s expansion of log (secx + tanx) upto the first three non- [07] ?'?Wf L3

vanishing terms. | |
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3 _ _ 10U 10 aou
Ifu = f(4x — 5y,5y — 62,62 4x) then prove that = T 3y +t355,=0.
4. Find the extreme values of f(x,y) = x3 + 3xy? — 3x% — 3y2 + 4. 071 <02 L3
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I (@Ifu=x+3y?-2%,v=14x2yz and w = 222 — xy find a((uvw) at (1,-1,0). [04]
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(b) Evaluate: I J. j (x+ y + z)dxdydz. 04 o3 13
-10 x-z
2. Obtain the Maclaurin’s expansion of log (secx + tanx) upto the first three non-  [07] <02 13
vanishing terms. |
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3. Ifu = f(4x — 5,5y — 62,6z — 4x) then provethati—;i-léﬁl—%a—l;:o. P coz L

4. Find the extreme values of f (x, y) = x* 4+ 3xy? — 3x% —3y2 + 4, : [071 coz2
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A rectangular box, open at the top, is to have a volume of 32 cubic ft. Find the
dimensions of the box requiring least material for its construction.

T dx dy by changing the order of

Evaluate the double integral H 3
; 0, XtV

integration.

a -y
By changing to polar coordinates, evaluate _f j yAf x> +y*dxdy.
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Evaluate: lim,._,, (2 -7 and lim,_q (

A rectangular box, open at the top, is to have a volume of 32 cubic ft. Find the
dimensions of the box requiring least material for its construction.
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